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Physics 2414
Midterm #3 - Spring 2008

Version A

Multiple Choice (6 pts each)

1) You are on a cart initially at rest on a track with no friction. You throw balls ata
partition that is rigidly mounted on the cart. If the balls bounce straight back as
shown, is the cart put into motion?

CI i er/‘ @Yes, it moves to theleft b .

) - z‘ Yes, it moves to the right
C) No, it remains in place
P ,D D) Yes, it can move either left or right
depending on how hard the balls are thrown.
E) Not enough information to determine. [©>—©

2) Two squares of the same mass are shown. Find the center of mass of the two
squares. N

. y
e /e ‘A) Xem=2; Ycm=2
lectu &

Xem=7/2 ; Ycm=3/2

Y-y C) Xem=3/2 ; Yem=3/2
q D) Xcm=5/2; Ycm=3/2
F E) Xem=7/2; Ycm=5/2
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3) A skier of mass 100 kg starts from rest atop a frictionless hill 100 m high
and skies to the bottom of the hill. When the skier reaches the bottom of the
hill he picks up a box of mass 20 kg. What is the speed of the skier after he

icks up the box?
roep P mah= {_’AV" Conserve £
_ A) 342 m/s '

Problem 9 2 i1 - 0
@36.9 s (onserve p MVS (‘""'M Wy

cannot be determined unless the angle of the hill is known.



4) In any isolated collision, Mam"*"" ( '{ no ’xt',“{

A) Total momentum is not conserved. X )
B) Total kinetic energy is conserved. M‘ es € ISO/Q rfd
é’l otal momentum is conserved.
Total momentum is not conserved but total kinetic energy is conserved.
E) Total momentum and total kinetic energy are conserved.

5) A skier of mass = 80kg starts from rest on a hill with a slope of 20 degrees above the
horizontal. She skies down the hill and a frictional force of 30 N opposes her motion.

What is her velocity 20 m down the hill? ®
h=d 54 20

d‘,) ¢ A1LSmss ddom 4 R
drn o AR Mgk Al

D) 16.2 m/
P 14 éuw m/ss

6) A woman stands on the edge of a cliff. She throws a stone vertically downward
with an initial speed of 15 m/s. The instant before the stone hits the ground
below, it has 150 J of kinetic energy. If she were to throw the stone horizontally
outward from the cliff with the same initial speed of 15 m/s, how much kinetic

energy would it have just before it hits the ground?

A 507 Don't care about diection <1 Mk
é@igg : f“ﬂ)a h» "'d\V‘-: .émvt
D. 9007 - Ma * }

E. Not enough information was given to answer the question

7) A 2.0 kg pendulum bob on a string 3.0 m long is released with a velocity of 2.0 m/s
when the support string makes an angle of 30 degrees with the vertical. What is the

velocity of the bob at the bottom of the swing?
”‘b a) 5.42 m/s x:Jw ’o‘: ‘?06*\
hz 3-%x = .9m

b) 7.41 m/s
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“P‘ e) 2.81 m/s
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8) A ball of mass M is fired with speed v at a spring, causing the spring to compress a
distance x. A second ball of mass 2M and 2v is fired at the same spring compressing the

spring a distance x’. What is the ratio of x’ to x?

t_ L, b
A2 ,'Z'Mv~ "‘kx :{‘th?v)' be x

B) 141
C) 4 ) Rﬂ
) atio X _ V22 20 >
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9) You skip two rocks along a lake, throwing them with an identical force for the
same amount of time. One rock is heavier than the other. What do you know
about the momentum and kinetic energy of the two rocks?
. Fat-op
C' Qmp A) they have the same momentum and the same kinetic energy. 50 40 S
b“"m B) the heavy rock has a greater momentum and a greater kinetic energy. ﬂ - "
C) the heavy rock has a greater momentum, but they have the same kinetic energy. K - .2—

3-’ ' @hey have the same momentum, but the lighter rock has a greater kinetic energy.
E) the heavy rock has a greater momentum, but the lighter rock has a greater kinetic ter ~e

FQ,'O energy. " t'l' k.e

10) A student’s life was saved in an automobile accident because an airbag expanded
in front of his head. If the car had not been equipped with an airbag, the
windshield would have stopped the motion of his head in a much shorter time.

Compared to the windshield, the airbag

A) does much more work. . F -
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D) causes a much Qmallcr change in momentur

E) causes a much smaller change in kinetic energy. p.) t ,Maef So k” Fo rce

11) A car with a mass of 1000 kg crashes into a parked pickup truck with a mass of 1500
kg. The two vehicles stick together and slide along the road before they stop. Which
vehicle had the greatest change in momentum during the collision and which vehicle had

the greatest momentum immediately after the collision?

Greatest Change in magnitude of momentum Greatest momentum immediately after collision

A) Car . Car

B) Car Clicker Truck 6(0~Io proéled\ ﬂ
C) Car 3-3 ' Same }
D) Same Same

' ' Truck



12) You are in a very light stationary sealed train car of length 10 m on a
frictionless track. Inside there is a large number of very heavy cannonballs
stacked on one side and a cannon. By shooting the cannonballs inside the train
car, what is the maximum distance you can move the train car? (assume that
the mass of the train and cannon are very small compared to the mass of all the

c balls. The ca ball leave th led trai .
annon e cannonballs can never leave the sealed train car) e l( ek er
@on S o Question
B) 5m o
C) You can move it any distance you want, it depends on the number of V- ‘-/

cannonballs and how hard you shoot them ‘
D) 20m ' P

E) You cannot move the train car no matter what you do

10 m

\4

) O

13) A spring in a dart gun is compressed 2cm. It is then used to fire a dart which has
kinetic energy K. The spring is then compressed to 4cm. What is the new kinetic energy

of the dart when fired? -L

a) £< e kxt‘r ‘{‘G\V?'

< . . e\ 2) o
O« X dousied @x)e 41t
e) K/4 "‘(

14) A ball of putty with mass M is fired at initial velocity v to the right towards an
identical mass of putty at rest. The two putty balls stick together. What is the final

velocity of the pair?

- a) v to the right onserve Mmom 'd'tﬁ‘\ |V V=0
>

b) v to the left

ézero . VN+O = @)m)%

v/2 to the right

®
v/2 to the left
| A —g— Oe
* 3



15) 3.0 kg cart, moving to the right with a speed of 1.0 m/s, has a head on collision with a
5.0 kg cart that is initially moving to the left with a speed of 2 m/s. After the collision,
the 3.0 kg cart is moving to the left with a speed of 1 m/s. This collision is:

A. elastic ,
inelastic, and the carts do not stick together after the collision

. completely inelastic in that the carts stick together after the collision.
D. not enough information to determine
E. none of the above

16) My car accelerates from 0 to 20 mph in 3.0 s. How long does it take for it to
accelerate from 0 to 60 mph assuming the power of the engine to be independent of

velocity and neglecting friction?
= %

A. 30s
B. 9.0s

C. 125 - & - k
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LAST Lecture
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(b)

©

(d)

(e)

®

(h)

Object

Location
of axis

Momeiit of
inertia

Thin hoop,
radius R

Thin hoop,

‘radius R

width W

Solid-cylinder,
radius'R-

Hollow cylinder,
inner radius Ry
outer radius R,

Uniform sphiere,

-radivs-R

Long uniform rod,
length L

Long uniformrod,
length L

Rectangular
thin plate,
length L, width W

Through
center

Through
cenlral
diameter

Through

‘center

Through

-center

Through
center

‘Through

center

Through
end

Through
center

MR2

LvR2 + Lagw2
mgm + _wgS\

Luw )

Lagra
ML

ML+ W)
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